
Above you see the control sprouts, below you can see the sample on top of an
orgonite table. Similar humidity and temperature. The number listed on the

sample is the start weight (sprouts + total weight including water)

The distance between the samples was 9.88 meter. The wristwatch and
thermometer was not present during the experiment.

The sprouts were left for 48 hours, with identical weights when the
experiment was over. This is likely because the huge orgonite may be able to

reach and influence the placebo sample. My suggestion for a repeat
experiment is to optically isolate the samples to minimize energy exchange,
for example by placing a plastic bucket upside-down on top of the sprouting

samples. The distance could also be increased, and use a piece of orgonite that
is smaller or perhaps shaped like a pyramid so the energy is directed upwards,
the shape of this orgonite looks like it will extend it's field horizontally which

seems like the worst possible option for this experiment..


